ECONOMICS HSSC-I o
SECTION — A (Marks 20) =)
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Time allowed: 25 Minutes | Version Number [3[1 4] 1]

Note: Section — A is compulsory. All parts of this section are to be answered on the separately provided
OMR Answer Sheet which should be completed in the first 25 minutes and handed over to the
Centre Superintendent. Deleting/overwriting Is not allowsd. Do not use lead pencil.

Q.1 Choose the correct answer A/ B/ C/ D by fllling the relevant bubble for each question on the OMR
Answer Sheet according to the instructions given there. Each part carries one mark.

1) Human wants are:
A One thousand B. Few C. Innumerable D. Countable
2) Economics is a science which studies:
A Distribution of wealth B. Optimum use of scarce resources
C. Production of wealth only D. Exchange of wealth only
3) Adam Smith wrote “Wealth of Nation” in:
A 1976 B. 1876 C. 1776 D. 1676
4) Total utility is maximum when:
A Marginal utility is zero B. Marginal utility is falling
C. Marginal utility is increasing D. Marginal utility is constant
5) All non-material things which satisfy human wants are called:
A Economic goods B. Non-economic goods
C. Services D. Capital
6) Economic activity means derivation of:
A. Welfare B. Respect C. Satisfaction D. Justice
7 The Price of Non-economic good is:
A Very low B. Very high C. Zero D. Negative
8) Cross elasticity for Suzuki and Honda cars will be:
A, Positive B. Negative C. Zero D. One
9) When price of product increases by 100% and as a consequence its quality supplied rises by 125% its
Elasticity of Supply will be:
A Less than unity B. Greater than unity
C. Equal to unity D. Equal to zero
10) When a rise in price brings a fall in demand of a product, it will be called:
A Rise in demand B. Contraction in demand
C. Fall in demand D. Extension in demand
11) Geographical mobitity of is not possible.
A Land B. Capital C. Labour D. Organization
12) When Marginal Product (MP) is zero, then Total Product {TP) will be:
A Increasing B. Decreasing C. Zero D. Constant
13) is a condition for existence of monopoly.
A Big size B. Identical product
C. No close substitute D. Absence of Government Tax
14) All of the following are U-shaped Except:
A AVC B. AFC C. ATC D. MC
15) A producer maximises its profit if:
A MRP=W B. MRP=ARP C. MRP isrising D. TRP=W
16) Which one of the following cost curve intersects other cost curves at minimum level?
A AC B. MC C. TC D. AVC
17) A firm attains equilibrium under monopoly when: .
A AR=MR B. AC=MC C. MR=MC D. AR=AC :
18) The concept of Quasi rent was given by:
A. Hicks B. Alfred Marshall C. Robbins D. Adam Smith
19) The reward for the use of money is:
A. Rent B. Profit C. Wages D. Interest
20) The classical theory of rent was presented by:
A Marshall B. Ricardo C. Robbins D. Keynes
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ECONOMICS HSSC-1 .

\
)

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)’ one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required, Write your answers neatly and legibly.

SECTION — B (Marks 50)
Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
{15 x 3 = 45)

(n Define ‘economic problem’. What is the basic cause of ‘economic problem’?
(in Why are indifference curves downward sloping?

(i) State the definition of economics gives by Alfred Marshall.

(iv) Differentiate between economic wants and non-economic want.

(v) What is the taw of Diminishing Marginal Utility?

vi) What is the price elasticity of demand?

vii) Define Monopoly.

(

(

{vili) What is meant by equilibrium price?

(i) Describe the vertical mobility of labour with example.
(x} What is the law of variable proportion?

{

i) Solve following equation to find equilibrium price and quantity where Od — Os .
Qd=10-2P QOs=5+3F

{xii) Write any three reasons of shifting of a consumer from one demand curve to ancther demand curve,

{xiii} What is meant by production of wealth?

{Xiv) Define Marginal Productivity theory.

(xv} Write any three factors determining real wages.

(xvi) What is Gross Profit?

(xvil)  What is meant by cost of production of a firm?

(xviii) Define ‘continuous variable”". Also give an example.

(Xix) Differentiate between contractions and fall in supply.

(xx) Why is long run cost curve (LAC) flatter than short run cost curve (SAC)?

(xxi)  Why are Marginal Revenue (MR) and Average Revenue {AR) curves downward sloping under
Monopoly?

b. Attempt any ONE part. {(1x5=8)

(i) What are the causes of negative slop of demand curve?

{ii} Use diagrams to show the effect of the following on equilibrium price and guantity:

a Demand increases more than increase in supply
b. Demand decreases more than decrease in supply.

SECTION — C (Marks 30)
Note: Attempt any THREE questions. All question carry equal marks. {3x10=30)

Q.3 Explain Robbins’ definition of Economics.

Q.4  Explain short run equilibrium of a firm under perfect competitions with diagram.

Q.5 Whatis elasticity of supply? How is it determined? Explain with the help of diagram.
Q.6  Explain the law of diminishing return with diagram.
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